= o
A & 0l & AF 2 E A A
20169 = =0la LA SXE A
SH =SNEMY
E: =SUMH 25
&2 XNFAE SXHF (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
SX &M 10,359,590 10,863, 136 A 503,546
= 2,137,417
J| 33,120
Al 6,889,972
T Hl 1,299,081
SNEH L3t 4,288,378 4,619,613 A 331,235
= 648,303
Al 3,284,390
T Hl 355,685
KA SXHE 3,361,339 3,631,461 A270,122
Al 3,120,022
Tl 241,317
A ER2 29 2,547,350 2,842,200 A 294,850
Al 2,536,750
Tl 10,600
307 21201 A 2,547,350 2,842,200 A 294,850
Al 2,536,750
I 10,600
05 BIZERIE 3 2,547,350 2,842,200 A 294,850
OAMI=XN2 24 X 2,536,750,000& 2,536,750
AlHI 2,536,750
OF&s=sla dilg Bx 3,600,000& 3,600
OZFUUOIHE REI3EAY &
7,000,000& 7,000
MIEXNHNEIRH REX AMI=S2LE HIX 25,344 26,928 A 1,584
Al 12,672
I 12,672
301 et A= 25,344 26,928 AN 1,584
AlHI 12,672
L Hl 12,672
0B M ERRIABHS 25,344 26,928 A 1,584
OMIASNEGSER REL 25,344,000 25,344
AlHI 12,672
T Hl 12,672
SN 2N A 44,268 41,268 3,000
201 Let24d| 19,000 17,000 2,000
01 At 22/l 18,460 16,460 2,000
OX Y Atal =XIAH= M= 8,000& +70& 560
OAMotFEX &SN HatEA S M
20,000& *300H 600
OXe=R o - 2Eel 2o3 29
2,000,000& 2,000
OslY =R =¢&s 12,000, 000& 12,000
OXANTASEI(ER) 3,300,000 3,300
02 =224l 540 540 0
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2N
X ZH -
L= B

el

5 - 4
HH - B (3H) - KA - BYS 0l &t o e 2
NS SAt SEHIBAMAE sd3HB)| 2
45,0003 123 540
203 YR =&l 22,100 21,100 1,000
03 AIF=XH R =AH| 22,100 21,100 1,000
osxsgz= g 3,200,000& 3,200
OEsHHd A2 g2 16,800, 000& 16,800
OAMtal =X gR=2 1,300,000& 1,300
Og2agMdlA 2AHAT 2HE 3 800,000 800
301 et AaZz 3,168 3,168 0
0B ARSI EERAB NS 3,168 3,168 0
OAMEI=EX gREX 3,168
SA 6,0003 x2H 222 128 3,168
AMEIEXAIE ASI=ERRABIX 39,600 36,288 3,312
AlH 19,800
I 19,800
B4 39,600 36,288 3,312
Al 19,800
I 19,800
ERRABHS 39,600 36,288 3,312
SIZ2XAIE AMIERRE S4
39,600,000& 39,600
Al 19,800
I 19,800
29 11,177 10,677 500
2 EH2 HH| 11,177 10,677 500
3224l 11,177 10,677 500
Oz3a 23R= 8,000,000& 8,000
O&z32 RAE=+22|
3,362& %1,592.5m" x50% 2,677
OEssl& 2YAE &2Z 500,000& 500
HERI3A XE 570,800 570,800 0
AlHI 550,800
T Hl 20,000
24z 570,800 570,800 0
AlHI 550,800
T Hl 20,000
B0z 570,800 570,800 0
23X =Y 550,800,000& 550,800
Al 550,800
dREN METRAZ3 200,000& x100H 20,000
A 25 X8 112,300 103,300 9,000
2H01 & 112,300 103,300 9,000
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2N

M =2UEH 25
ol KEAIS =X (S &2)
SA - BB B () - MM - BES Ol &t o San HmEET
02 It M AHE L 78,600 72,800 5,800
OEsHHd K& 67,100,000& 67,100
OAMtal&tHl 2d&8s X& 11,500, 000& 11,500
03 BIAHNHE2IHIEES 33,700 30,500 3,200
O&tH 83=29H XA 33,700,000& 33,700
= AMEZEAN 2F XA 10,500 0 10,500
201 L2l 10,500 0 10,500
01 At 22l 10,500 0 10,500
OfIds 29 N& 10,500, 000& 10,500
NEAE Lhs=al 927,039 988, 152 61,113
= 648,303
Al 164,368
I 114,368
J=ZEY3 29 6,000 6,000 0
Al Hl 3,000
I 3,000
307 21201 A 6,000 6,000 0
Altl 3,000
I 3,000
11T MIEXASEX 6,000 6,000 0
OJ=%&%W3 2Z X& 6,000,000& 6,000
AlHI 3,000
T Hl 3,000
=2 SXAA 709,279 774,652 A 65,373
= 567,423
AlHI 70,928
T Hl 70,928
301 gt d= 709,279 774,652 A 65,373
= 567,423
Al 70,928
- Hl 70,928
01 MEI2EZE 6= 709,279 774,652 A65,373
Ooz2g XX 709,279,000& 709,279
= 567,423
Al HI 70,928
I 70,928
JI=ZFE0 2949 50,000 50,000 0
Al HI 50,000
307 glz2tol & 50,000 50,000 0
AlHI 50,000
05 RIZt2IE = 50,000 50,000 0
OJI=ZE0ta 29 50,000,000& 50,000
AlH 50,000
M EXNSEMEA B2 X 146,760 142,500 4,260
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AN SXEHD

E: =2XFY 25

¢el: XA UsFa (chel & 9l)
SN EHD B (3H) - MEAY - BAS ol &k o8 ﬁlgﬁ HDZ2

= 73,380
Al HI 36,690
T 36,690

101 124 H] 146,760 142,500 4,260
= 73,380
Al H] 36,690
T 36,690

04 JI2ZtHI22XNSE S 146,760 142,500 4,260
OMEEXNESEAMEA EF22S 146,760,000 146,760
= 73,380
Al H] 36,690
Tl 36,690

At 22l Al 22H] A& 15,000 15,000 0
= 7,500
Al HI 3,750
24| 3,750

201 et 9| 7,000 7,000 0
= 3,500
Al Hl 1,750
24| 1,750

01 AR 22l ] 7,000 7,000 0]
OAdl &2l AlYE 29d X 7,000,000& 7,000
= 3,500
Al HI 1,750
24l 1,750

301 Bt A= 8,000 8,000 0
= 4,000
Al H] 2,000
T 2,000

01 Al E & A 462 8,000 8,000 0
OArell 22| AF S 8,000,000 8,000
= 4,000
Al HI 2,000
Tl 2,000

Ols=2 Xl &4t 5,140,745 5,273,221 N 132,476
= 1,365,424
Al HI 3,474,847
24| 300,474

OolsEsS 5,140,745 5,273,221 N 132,476
= 1,365,424
Al Hl 3,474,847
24| 300,474

IIERE A8 AH AIE0E HESE2 NI 22,744 22,744 0
Al HI 22,744

301 et A= 22,744 22,744 0
Al HI 22,744

01 Al B & A 46 2 22,744 22,744 0
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2N

X{ XH -
S =

ool OlERS celEe)
HH .ol (3AH) - NSAY - By Ol &t o4 San Hl B E2
ONEAE, 2E8AH, ANE0tS HHEtSE3 X

& 22,744 ,000& 22,744
AlHI 22,744

gdes Ols sS4 XHE 1,177,896 1,473,418 A 295,522
Al 883,422
-4l 294,474

Ao A= 1,177,896 1,473,418 A 295,522
Al 883,422
-4l 294,474

01 A3l EE E 6l = 1,177,896 1,473,418 AN 295,522

OBY  Y3tE 0tS3A A

1,177,896,000& 1,177,896
AlHI 883,422
2yl 294,474

¢ Ots=24 X 319,848 319,848 0
Al 319,848

AUB A S 319,848 319,848 0
Al 319,848

01 Al EE H =56l = 319,848 319,848 0
OE - -25d ots=4 A& 319,848,000& 319,848
Al HI 319,848

ABEEMEH 29 340,000 300,000 40,000
= 340,000

101 @124 dl 133,000 122,000 11,000
= 133,000

04 JIZtHZ22XREE+ 133,000 122,000 11,000
OfIzk=golad olAh| 133,000, 000& 133,000
= 133,000

2 EL2 H Y| 131,000 129,400 1,600
= 131,000

01 At 22l 117,000 117,400 A 400
OEgARE Z208 & 2% 117,000,000 117,000
= 117,000

=323l 14,000 12,000 2,000
O332= 14,000, 000& 14,000
= 14,000

202 oddl 16,000 14,000 2,000
= 16,000

01 = LH 4 1l 16,000 14,000 2,000
OEEAERE A &% 16,000, 000& 16,000
= 16,000

Q2= 2,000 2,000 0
= 2,000

03 Al =X A2 =X 2,000 2,000 0
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S25 )
A B8 e2(3) - HRAY - BES il 2
OCaXifie gexa 2,000,000 2,000
= 2,000
301 YBHP &S 7,000 7,000 0
= 7,000
09 SAIAIHI 2 A2 5,000 5,000 0
OXRASAR L SAT A AHIS4
5,000,0002 5,000
= 5,000
11 JIEt2 & 2 2,000 2,000 0
OBETEA 27 2,000,000 2,000
= 2,000
307 Q1240 & 51,000 20,000 31,000
= 51,000
11 ABI=Z XA R 51,000 20,000 31,000
O%8)|2 T2 2 51,000,000 51,000
= 51,000
AEAH Y JIESIE Ol @ 142,560 142,560 0
Al 142,560
301 Y AR 142,560 142,560 0
Al 142,560
IEEEEPSE 142,560 142,560 0
OAEAHIIE U JHHS % X
142,560,000 142,560
Al 142,560
AEAUEIE L NEIALOS 27,000 27,000 0
Al 27,000
301 Y AR 27,000 27,000 0
Al 27,000
IEEEEPSTE 27,000 27,000 0
OAEAEIIE U IHHSISOE NN
27,000,0002 27,000
Al 27,000
AM&E0ts A& X3 44,483 44 483 0
Al 44,483
301 Y AR 44,483 44,483 0
Al 44,483
01 ABIB RN 453 44,483 44,483 0
ONMOIS AHSE X 44,483,000 44,483
Al 44,483
otETY NAHE X 79,474 79,474 0
= 55,632
Al 23,842
301 Yt AR 79,474 79,474 0
= 55,632
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SM: =2XNEHY
=RV (-

olseEs SRt @)
SH-HH . B(SH) - HBAMY - B2 ofl &k o San HDE2
Al'H] 23,842
01 MBI EEAE G2 79,474 79,474 0
ootsee X3 Az XA 79,474 ,000& 79,474
= 55,632
AlH] 23,842
Ot X WAHAISE X2l XH) 228,480 220,460 8,020
= 114,240
Al Hl 114,240
101 @121l 228,480 220,460 8,020
= 114,240
Al Hl 114,240
04 JI2ZtHZ2ZXNEE S 228,480 220,460 8,020
OO0ts= X WA o1 24d| 228,480,000& 228,480
= 114,240
Al H] 114,240
OFsSLEANE MHASA 202,333 202,333 0
= 182,100
Al H] 20,233
301 LBt A= 202,333 202,333 0
= 182,100
AlH] 20,233
01 M BEEE2G2 202,333 202,333 0
O0lsY¥EAE MAHSA 202,333,000& 202,333
= 182,100
Al Hl 20,233
OHESRAL 29 1,075,929 1,075,929 0
Al H] 1,075,929
307 ©I2+0I & 1,075,929 1,075,929 0
Al H] 1,075,929
10 Al SEXAIEEE2IHIEX 1,075,929 1,075,929 0
O0ts%=2Ad 29 1,075,929, 000& 1,075,929
Al H] 1,075,929
LESOE IEE &9 55,518 86,286 A 30,768
= 22,207
AlH] 33,311
307 212t0| & 55,518 86,286 N 30,768
= 22,207
Al HI 33,311
10 AIRIEXAIEEHAE2IGHIEX 55,518 86,286 A 30,768
O2sHMaEIId(08E)2AH| 29|
55,518,000& 55,518
= 22,207
AlH] 33,311
SSMHEINE 29 X 9,000 0 9,000
Al HI 9,000
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2N

MR 0BT B4
@2 OIsE s (SHe &)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
307 glz2tol & 9,000 0 9,000
AlHI 9,000
10 AL SXAIEEE2EHEX 9,000 0 9,000
OZSMEIF(AEE)BAN =2X4T
9,000,000& 9,000
AlHI 9,000
22, NHEAEY Ots Xz X& 4,200 4,200 0
2 2,940
AlHI 1,260
301 LAz 4,200 4,200 0
= 2,940
AlH 1,260
01 MI2ZE 6= 4,200 4,200 0
O - Jtd9e ots delxlz XNH
4,200,000 4,200
= 2,940
AlHI 1,260
QAots =+ XA 132,791 132,791 0
= 92,954
Al 39,837
301 et a3z 132,791 132,791 0
= 92,954
Al 39,837
01 MI2ZHE 6= 132,791 132,791 0
Ogdots =4 XA 132,791,000& 132,791
= 92,954
AlHI 39,837
r=gid2t RIS 2,800 0 2,800
= 1,960
AlHI 840
301 et d = 2,800 0 2,800
= 1,960
AlHI 840
01 MEI2EZE+05l= 2,800 0 2,800
o=l 2RRES 2,800,000 2,800
= 1,960
Al 840
YoHlSx 21,600 0 21,600
= 15,120
Al HI 6,480
301 et a =z 21,600 0 21,600
= 15,120
AlHI 6,480
01 AR 2Z A 53 21,600 0 21,600
ogddlE & 21,600,000& 21,600
= 15,120
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SM: =2XNEHY
=RV (-

ol OtsE s (=& J)
SA - BB B () - MM - BES Ol &t o San HmEET
| Al'H] 6,480
g0t edots s+ X 15,600 15,600 0
AlHI 15,600
301 gt d= 15,600 15,600 0
Al 15,600
01 MEI2EZE 06z 15,600 15,600 0
ogotgots x5 X 15,600,000 15,600
AlHI 15,600
Z0Hots ge=EE XA 28,636 28,636 0
= 20,045
AlHI 8,591
301 L2 A= 28,636 28,636 0
= 20,045
AlHI 8,591
01 MEIBZE 05z 28,636 28,636 0
OHols gL XA 28,636,000 28,636
= 20,045
AlHI 8,591
ANEotsdH 22X 986,340 867,412 118,928
= 493,170
Al Hl 493,170
307 21201 A 986,340 867,412 118,928
= 493,170
AlHI 493,170
10 M2 SXNANEHE2IHEX 986,340 867,412 118,928
OXgotsdHd 29 X 986,340,000 986,340
= 493,170
AlHI 493,170
XNEotsdEH SAX HSHA X 65,810 44,080 21,730
AlHI 65,810
307 21zt ™ 65,810 44,080 21,730
Al 65,810
10 AL SXAIEEE2EH EX 65,810 44,080 21,730
OXNYGOtsSHEEHBALA HR2MH K&
65,810,000 65,810
AlHI 65,810
OF2t & XIotsdE X2 7,800 4,200 3,600
AlH 7,800
307 21201 A 7,800 4,200 3,600
Al 7,800
10 AL SXNAIEEE2EHEX 7,800 4,200 3,600
OofdgXxgdotsde XA 7,800,000& 7,800
Al HI 7,800
ANgotsdE IPTV 32% 28 XA 24,888 17,940 6,948
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SM: =2XNEHY
=RV (-

ol OtsE s (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Al'H] 24,888
307 glz2tol & 24,888 17,940 6,948
AlHI 24,888
10 AL SXAIEEE 2 H EX 24,888 17,940 6,948
OXdgotsdH IPTV 222 29 &
24,888,000 24,888
AlHI 24,888
gus sSSAHHA 50,112 43,296 6,816
= 25,056
AlHI 25,056
307 glz2tol & 50,112 43,296 6,816
= 25,056
AlHI 25,056
10 AL SXAIEEE 2 H EX 50,112 43,296 6,816
OgusE EsSHEIA(EREY9H])
50,112,000& 50,112
= 25,056
AlHI 25,056
guE =3 MUlA (ALl 17,085 16,048 1,037
Al 17,085
307 gl2tol & 17,085 16,048 1,037
Al 17,085
10 AL SXNAIEEE2EH EX 17,085 16,048 1,037
O2ctel a2l 8,500,000& 8,500
Al 8,500
Od - HErH| 3,842,000 3,842
AlHI 3,842
O ALK& I 1,700,000& 1,700
Al 1,700
OUHMHR & 3,043,000 3,043
Al 3,043
Ela0ls NEEHES 40,000 40,000 0
Al 40,000
301 et A3z 40,000 40,000 0
Al 40,000
01 AR 2Z A 53 40,000 40,000 0
OAlE EA0ls MHEEES XE
40,000,000& 40,000
Al 40,000
Ots=XAIE 29 3,000 3,000 0
201 Let24E] 3,000 3,000 0
01 At 22l 3,000 3,000 0
OO0tz - E2EdA 222 5 722
3,000,000& 3,000
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SM: =2XNEHY
=RV (-

e OISES (&2 &H)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

012/ 0l=0l6 & OtsAIE 22l 3,000 3,000 0

401 A& HI 2= CHHI 3,000 3,000 0

01 A& Bl 3,000 3,000 0
OO0 ol=0le & OtsAIE 22l 3,000,000& 3,000

OtsAlE etdzel & SZosdl X3 3,000 0 3,000
AlHI 3,000

307 glz2tol & 3,000 0 3,000
AlHI 3,000

10 ALSISXAIEEE2EHEX 3,000 0 3,000

OO0tsAlE otdatel & &A3ad X2

3,000,000& 3,000
AlHI 3,000

Ols E2sdEINE Ad8s4d 4,818 4,818 0
AlHI 4,818

307 glz2tol & 4,818 4,818 0
AlHI 4,818

11T M SXAIS EX 4,818 4,818 0
Olls Ssdald Hasd 4,818,000& 4,818
Al 4,818

AA=ol=a K= 4,000 4,000 0
Al 4,000

301 et a = 4,000 4,000 0
AlHI 4,000

01 MEIBEE 2053 4,000 4,000 0
OYge=odl= 4,000,000& 4,000
AlHI 4,000

Y¥AUXY 2 25 906,299 946, 142 £.39,843
= 123,690
J| 33,120
Al 130,735
-l 618,754

Had =2XNBD 906,299 946, 142 139,843
= 123,690
J| 33,120
Al 130,735
-l 618,754

F2ENSEOE 29 29,750 31,750 A 2,000
J| 11,900
Al 8,925
Tl 8,925

201 YEt2 Ayl 1,750 2,000 A 250
J| 700
Al HI 525
I 525
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SM: =2XNEHY
MY HAUNY U 25

=

ol HAd =2XEX CEEEED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %E& HRE2

01 AP 22| H| 1,750 2,000 A 250
OFA4E 201e &8¢ 1,750,000& 1,750
J| 700
Al HI 525
24| 525

307 QI2t0| & 28,000 29,750 A 1,750
J| 11,200
Al Hl 8,400
24| 8,400

11 Al EXAIEEX 28,000 29,750 A 1,750
OFA4E 20y 24 N&E 28,000,000 28,000
J| 11,200
Al HI 8,400
T 8,400

Had 28 29 15,400 14,000 1,400
Al HI 7,700
T 7,700

307 2Iz2to| A 15,400 14,000 1,400
Al HI 7,700
Tyl 7,700

11T A EXAIEEX 15,400 14,000 1,400
OFA4d 828 29 X& 15,400,000 15,400
Al Hl 7,700
24| 7,700

HAYE =0tel XN 14,000 10,000 4,000
J| 5,600
Al HI 4,200
24 4,200

307 gizto| & 14,000 10,000 4,000
J| 5,600
Al HI 4,200
24l 4,200

11T A EXAIEEX 14,000 10,000 4,000
Oo3a3a4d sotel XA 14,000,000 14,000
J| 5,600
Al HI 4,200
T 4,200

SN FA2EXA 8,000 14,200 N6,200
J| 5,600
Al Hl 2,400

301 et A= 7,360 13,256 N5,896
J| 5,152
Al HI 2,208

01 A& A 252 7,360 13,256 N5,896
OSEXNaaa 34048 X 7,360,000& 7,360
J| 5,152
Al HI 2,208
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SM: =2XNEHY
MY HAUNY U 25

ol HAd =2XEX CEEEED
_ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
307 Q12+0| & 640 944 ~304
J| 448
Al HI 192
11T A EXAIEEX 640 944 A 304
XNEHa a4 A X 640,000 640
J| 448
Al HI 192
Had B5 8,818 8,818 0
201 gEt24H Y| 6,198 6,198 0
01 AP 2t 2] d| 6,198 6,198 0
O4dyE 8ol satE M H & 620& 5,000 3,100
OFaUds €3 4,800 x30&~12€ 1,728
OFA~E & EES 50& *2,0000H 23] 200
OFAGEXNERSE /AsH HEH 1,000, 000& 1,000
OFAEBSHAB NAZ2 g 25 L LA
EE 2B 3,000 x40A 120
Ol&E 2 0CRL XAl X &+ 1002 *5000H 50
203 €2 F=&d| 1,100 1,100 0
03 Al ZH =X 2= XIH| 1,100 1,100 0
OFA~HE Hd2=x=4A 500,000& 500
OstZHHHE o3 23 20,000 30X 600
301 et A= 1,520 1,520 0
09 HAIAHIBEAZ 1,120 1,120 0
OFA~E XNERY Rolgh gsHs =4
7,000& x160Y x 1 1,120
11 J|EtE A2 400 400 0
OFAHE KollgdA Aol EAH 100,000 *43] 400
Aol HAYE 23519 & 29 587,711 605,434 N17,723
307 QI2t0| ™ 120,000 120,000 0
05 QIZtREZ 120,000 120,000 0
OAE 22 & 29 120,000,000 120,000
1T AIEH YL 20| 467,711 485,434 N17,723
01 Al&H| 467,711 485,434 N17,723
OEX & A= Y 467,711,000 467,711
HAYE 2N E Ot 0l 29 150,780 145,500 5,280
= 75,390
Al HI 75,390
307 gizto| A 150,780 145,500 5,280
= 75,390
Al HI 75,390
05 QIZtRES 150,780 145,500 5,280

- 238 -




SM: =2XNEHY
MY HAUNY U 25

ol HAd =2XEX CEEEED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
OFA4E =020l &9 150,780,000 150,780
= 75,390
Al HI 75,390
HAGEX AN BHXI A& 20,040 19,440 600
J| 10,020
Al HI 10,020
307 2I2t0| & 20,040 19,440 600
J| 10,020
Al H] 10,020
05 QIZtRES 20,040 19,440 600
OFAEX S A BHXI A& 20,040,000 20,040
J| 10,020
Al HI 10,020
st g "HadE X3 69,000 67,000 2,000
= 48,300
Al HI 20,700
307 212t0| ™ 69,000 67,000 2,000
= 48,300
Al HI 20,700
05 QIZ2tE 2 69,000 67,000 2,000
Ostn g 344 XA 69,000,000 69,000
= 48,300
Al H] 20,700
Ha4d 2oegs I3 2,800 0 2,800
Al HI 1,400
I 1,400
307 2iz2to| A 2,800 0 2,800
Al HI 1,400
T 1,400
05 QIZtR E 2 2,800 0 2,800
OFAEHEWHRAYZ 2I NS 2,800,000& 2,800
Al Hl 1,400
T4l 1,400
HHSHAAHAY (SN M) 24,168 24,160 8
ol 2 A Y| 512 504 8
ol A | 512 504 8
101 Q24| 512 504 8
01 2= 512 504 8
OFAH RHSY SEIJLR AAA224+Y
21,300 2H «12& 512
Jle&dl 23,656 23,656 0
Jl2 &4l 23,656 23,656 0
201 Bt 16,456 16,456 0
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2AH: SRS
B AR (SNEHDY)
chelr D123l
= _ — d =
SA - BB B () - MM - BES Ol &t o e
01 At 22l 16,456 16,456
NI =S 8,560,000& 8,560
OJlege+8d Sl 7,056,000 7,056
Ofxs4 29| 840,000& 840
203 YR =&l 7,200 7,200
01 JI22H S =4 3,000 3,000
OJI228 g2 =4l 3,000,000 3,000
04 RENSELRZ=LH 4,200 4,200
ORN2IYS =2 4,200,000& 4,200
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